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HDCP16.4%E T ALY

M 4 K A OuT IN GROSS HDCP NET
¥ 1 E&E! FE 3/ 38 15 0.8 | 65.2
¥ 2 5 B— 35 30 71 5.2 | 65.8
*3 EBH E£B 42 39 81 14.0 | 6/.0
*4 MHE B3t 41 41 82 15.0 | 6/.0
%5 KXIX 39 43 82 144 | 6/.6
6 Il =X 42 40 82 14.2 | 6/.8
%1 i %% 38 | 40 | 78 | 99 | 681
8 KT ItT 40 41 81 12.8 | 68.2

9 EF X 45 39 84 15.4 | 68.6
%10 7kf L — 42 42 84 15.2 | 68.8
1 Jc )53 38 39 11 8.0 | 69.0
12 Eix FIE 42 42 84 14.8 | 69.2
18 =8y @] | 45 | 40 | 85 | 15./ | 69.3
U TR Bk | 42 | 42 | 84 | 143 | 69.]
*15] 37T @A 38 39 71 6.8 [ 70.2
16 XKIFE ® 35 37/ ]2 16 | 70.4
17] Bl BB 42 43 85 | 146 | 70.4
18 B I1F J7s 38 39 11 6.2 | 70.8
19 JkIU == 38 43 81 10.2 | 70.8
%200 BA 5FI]§ 45 38 83 12.2 | 70.8
21 WUTF T 41 42 83 12.2 | 70.8
22l T —F 42 44 86 | 15.2 | 70.8
23] FH A 41 46 87/ 16.0 | 71.0
24, YU F 43 40 83 11.9 | 71.1
¥ 25 E A — 40 45 85 | 13.7 | 7113
26) YR IFE 41 45 86 145 | 715
21 TR fpk 42 37 79 12 1718
28 AR Z& | 44 | 44 | 88 | 16.0 | /1.9
29 AXHA i 41 43 84 10.8 | 73.2
%30 PHE = 41 45 86 12.8 | 73.2
31 T A 42 46 88 145 | 735
32| & fEx | 45 | 42 | 87 | 13.1 | 73.9
33 Bl Z!E 45 42 87 [ 12.7 | 74.3
34 FF Stk 40 43 83 1.8 | 75.2
%35 2IA 42 44 86 90 | 71.0
36| AJI f_ 43 38 81 3.3 | 11.1
3] HE =—B8 | 51 | 43 | 94 | 156 | /8.4
38 HI 5998 | 44 | 47 | 91 | 122 [ 788
39 A 42 49 91 12.0 | 79.0
s h% e | 43 | 46 | 89 | 79 | 81.1
M ¥ E—EB 50 49 99 15.8 | 83.2
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] §f ouT IN GROSS HDCP NET
* 1 44 1 44 7 88 [21.9 |66.1
* 2 46 49 95 [28.4 | 66.6
* 3 43 46 89 [215 |6/5
* 4 43 46 89 [20.4 | 68.6
* 5 45 45 90 | 21.2 | 68.8
6 4] 4] 94 1251 [68.9
*7 44 46 90 [19.3 | /0.7
8 46 43 89 (175 715

9 4] 48 95 [22.] 1723
*10 50 50 | 100 1276 | /2.4
11 44 45 89 [16.5 | 72.5
12 50 45 95 225 |72.5
13 51 53 | 104 1315 [ /2.5
14 46 44 90 [17.4 |172.6
*15 45 45 90 [17.3 | 72.]
16 4] 44 91 1179 | /3.1
17 , 49 4] 96 | 22.5 | /3.5
18 : 51 45 96 | 22.1 | 73.9
19| T F i 45 4] 92 [18.0 | 74.0
*x20] Pk =8 | 46 | 46 | 92 [17.9 | 74.]
21 [MH #EnE 43 48 91 [16.7 | /4.3
22|  WIFF UK 45 49 94 [19.2 | /4.8
23 EpET i 44 93 9/ 1222 | /4.8
4 ™HHE H 49 49 98 | 23.2 | /4.8
%*25 : + 92 45 9/ 1221 | ]/4.9
26| RO ?%& 90 4] 9/ [21.1 |1 75.9
271 a1 H ETHER o1 o2 | 103 [2/.1 [ 759
28 g%@ 48 | 47 | 95 [ 19.0 [76.0
29 %ﬁ i 90 o6 | 106 | 30.0 | /6.0
*30] EAHH IES 46 49 95 118.5 | /6.5
831 AFE B— 48 o6 | 104 126.9 | //.1
32| EE #1T 46 48 94 168 | /].2
33 IR =H 43 92 95 [ 175 [ 715
| HE FA 04 93 | 10/ 1292 [ /].8
*35| AL 2{1 45 o6 | 101 [23.1 [ /]9
%] =% B o1 o2 | 103 | 248 | /8.2
37 lk§ g5 44 o8 | 102 [22.8 | ]9.2
38| I = 4] 49 96 | 16.0 | /9.5
9] ZHH = 58 48 | 106 | 26.4 | /9.6
*40| =X, ETH 46 93 99 119.0 | 80.0
M 7 - 93 48 | 101 1 19.1 | 81.9
42 < — 04 93 | 10/ [23.2 | 83.8
43 G 03 99 | 112 1256 | 86.4




